Page 12

( )Referring to Detail 1E, mount the 7-pin
ceramic tube socket at location VI with a
#6 small solder lug on one mounting screw,
Use 3-48x1/4"hardware, Position the blank
space of the tube socket as shown in Pictorial
i,

3-48x1/4" SCREW

#3 LOCKWASHER

CHASSIS
BOTTOM

A 3748 NUT
#6 SMALL SOLDER
LUG

Detail 1E

{( ) Mount the 9-pin ceramic tube socket at 1o-
cation V2 with a #6 small solder lug on one
mounting screw, Use 3-48 x1/4'"hardware,
Pogition the blank space as shown,

( ) Mount a T-pin phenolic tube socket at loca-
tion V3 with a #6 small solder lug on one
mounting screw, Use 3-48 x1/4'"hardware.
Pogition the blank space as shown.

( ) Mount a second 7-pin phenolic tube socket
at location V7 with a #6 small solder lug on
one mounting screw, Use 3-48 x 1/4" hard-
ware, Pogition the blank space as shown,

( ) Mount 9-pin phenolic tube sockets at loca-
tions V5 and V6. Use 3-48 x1/4" hardware,
Position the blank space as shown,

{ ) Mount the 9-pin molded fube socket on top
of the chassis at location V4 witha#6 small
solder lug on one mounting screw, Use 3-48
% 1/4" hardware, Position the blank space
ag shown.

{ )} Referring to Detail 1F, mount a 4-lug termi-
nal strip at location A. Use 6-32 x 1/4"
“hardware,

{ ) Mount 2-lug terminal strips at locations Q
and S, Use 6-32 x 1/4" hardware,

6-32 NUT
#6 LOCKWASHER &

"L‘ht;—._'._e:z‘/

6—32 x 114" SCREW

Detail 1F

( ) Mount a 3-lug terminal strip at location L.
Use 6-32 x 1/4" hardware,

{ ) Mount a 8-lug terminal sirip at location F.
Use 8-32 x 1/4" hardware,

{ ) Mount a 1-lug terminal strip at location G,
Use 6-32 x 1/4" hardware,

( ) Install 3/8" rubber grommets at locations
HE and HG,

{ ) Install the remaining grommets at HA HD,
HE, and HF,

{( ) Referring to Detail 1G, mount crystal
sockets and crystal clips at locations M and
N, Use 4-40 x 3/8" hardware, Do not over-
tighten the hardware or you may crack the
sockets,

4-40 NUT
#4 | OCKWASHER

4-40x3/8" SCREW
&
Detail 1G
{ ) Mount #6 solder lugs at locations D, J, and

U, Use B-32 x 1/4" hardware, Position the
solder lugs as shown,



HEATHKIT"

Page 13

( ) T2, T3. Referring toDetail 1H, mount inter-

(

()

()

Cut

P T N N T B e Y

)

B

stage IF transformers (#52-17) atlocations
B and K, Use IF transformer mounting clips.
Be sure to place the color dots as shown in
Pictorial 1.

TRANSFORMER
MOUNTING

ORIENT BY
COLOR DOT
AS SHOWN
IN PICTORIAL

Detail 1H

T5. Mount the BFOQO coil (#40-429) at lo-
cation C., Use an IF transformer mounting
clip, Place the color dot as shown,

T1l. Similarly, mount the input IF trans-
former (#52-50) at location P. TUse an
IF transformer mounting clip, Place the
color dot as shown,

Referring to Detail 1J, mount the electro-
lytic capacitor mounting wafer at location H,
Use 6-32 x 1/4" hardware., Position the
mounting lug slots as shown,

C55, C56, C57. Again refer to Detail 1J
and mount the electrolytic capacitor at H.
Pogition the capacitor lug markings as
shown in Pictorial 1, Secure the capacitor
by twisting each mounting lug 1/4 turn with
long-nose pliers.

the power transformer leads as follows:

LEAD COLOR LENGTH
Red 4-1/2"
Red 3"

Green 3-3/4"
Green 3-1/2"
Black 11"
Black-green 11
Black-yellow 5-1/4"
Black-red 5-1/4"
Red-yellow 3-3/4"

D~ 6-32 NUT

b

\\ *6 LOCKWASHER

& j INSTALL THE CARPACITOR

MOUNTING WAFER ON

@ WHILE HOLDING THE
CAPACITOR IN PLACE,TWIS
EACH OF ITS MOUNTING
LUGS APPROX(MATELY
1/4 TURN.

()

THE CHASSIS.
&—6—32){ 174 SCREW

POSITION THE CAPACITOR
AS SHOWN IN PICTORIAL 1,
THEN PUSH THE CAPACITOR
INTO THE WAFER.

Detail 1J

Strip 1/4" of insulation from the end of each
lead.

Cut the audioc output transformer leads asfollows:

LEAD COLOR LENGTH
Red 4"

Blue 3-3/4"
White T-1/2"
Green T

Black 2-3/4"

Strip 1/4" of insulation from the end of each
transformer lead.

T4, Mount the audio cutput transformer at
location E with a 6-32 x 1/4" screw, #8
solder lug, and a 6-32 nut, Secure the other
mounting foot with 6-32 x 1/4" hardware,.
Be sure to place all of the transformer leads
through grommet HB.



Page 14

()

()

()

()

()

T6, Mount the power transformer with its
leads through hole HC. Secure the trans-
former with 8.32 x 3/8" hardware,

Referring to Detail 1K, mount a variable
capacitor mounting bracket on top of the
chassis at location FN and a 4-lugterminal
strip below the chassis at location R, Use
6-32 x 3/8" hardware for the double mount-
ing and 6-32 x 1/4" hardware for the re-
maining mounting heles,

.
a-32 x3/18 SCREW
£ "s LOCKWASHER

{VARIABLE CAPACITOR
MOUNTING BRACKET

£u32X §/4 BCREW

Detail 1K

Mount the remaining wvariable capacitor
mounting bracket at location FM on top of
the chassis, Use 6-32 x 1/4'" hardware,

C62. Again referring to Detail 1K ¢lip off
lug 2 of a 21 ppf variable capacitor and
mount this capaciter on the wariable ca-
pacitor mounting bracket at location FM.
Use #6 lockwashersand 8-32 x3/16" screws,
Turn the eapacitor shaft until the plates are
fully meshed, This will protect them from
being bent,

C45. Similarly, clip off lug 2 of another
21 ppf variable capacitor and mount this
capacitor on the variable capacitor mount-
ing bracket at location FN, Use #6 lock-
washers and 6-32 x 3/16" screws, Turn
the capacitor shaft until the plates are
fully meshed,

()

()

()

()

()

()

= R

Mount a SPST slide switch (#60-18) at
location FC on the front apron, Use #4
lockwashers and 4-40 nuts, Position the
switch lugs as shown,

Mount the DPDT slide switch (#80-36) at
location FE on the front apron, Use #4
lockwashers and 4-40 nuts,

Mount a SPST slide switch at location FG
on the front apron, Use #4 lockwashers and
4-40 nuts. Positionthe switch lugs as shown,
Bend the lugs at a 90 degree angle as shown
in Pictorial 1,

C41. Mount the remaining 21 puf variable
capacitor (#26-64) at location FF on the front
apron. Use 6-32 x 3/16' flat head screws,
Do not use #6 lockwashers.

Start a 8-32 x 5/18™ getscrew in the dial
drum. Place the dial drum on the shaft of
the MAIN TUNING capacitor (#26-84),

C8A, C6B, C6C. Mount the MAIN TUNING
capacitor on the top side of the chassis as
shown in Detail 1L. Secure the capacitor
with 6-32 x 3/16" screws, and #8 lock-
washers,

6-32 ¥ 516
SETSCREW

Detail 1L



whwroa:|
W SHER

n

4-40NUT

._ o
B

PILOT
LAMP BRACKET

Detail 1M

[+]

=3 Oy @

Gk (O]
4
e=t) o o L =
@ % ] COLOR DOT

®

6-32
speepNuT |

B

Pictorial 1



HEATHEIT

Page 15

{ ) Locate the front panel and referring to

()

()

()

()

Detail 1M {fold-out from this page), mount
SPST slide switches at locations FKand FL
along with a pilot lamp bracket, Use #4
lockwashers and 4-40 nuts on the studs,

Carefully remove the meter from its box,
When handling the meter, he careful not to
bend the pointer or scratch the meter face,

Remove any wire between the meter ter-
minals,

Referring to Detail 1N, mount the S meter to
the dial back plate, Tilt the meter so that
the dial plate can be inserted between the
meter pointer and the meter face, Placethe
meter spacer plate in position, Secure the
meter and the meter spacer platetothe dial
back plate with the two black 6-32 x 1/4"
truss head machine screws and 6-32 nuts,

Place the dial pointer on the dial backplate
assembly, Place a piece of tape over the
rear of the pointer to hold it in place,

Detail 1N

( ) Locate the plastic dial plate, Handle the
plastic by its edgestoavoidfinger smudges,
Remove the protective paper. Using a so-
lution of a few drops of household deter-
gent (Joy, Liquid Lux, etc,,) in a cup of
lukewarm water, wipe over both sides of
the plastic plate with a sponge or soft
cloth. This will prevent static charges{rom
collecting on the plastic that normally
attracts dust particles, and will also clean
any smudges that may be present,

()

Again, referring to Detail 1N, mount the dial
plate so that the lettering can be read from
the front panel, the dial spacer plates, dial
back plate assembly, pulley bracketassem-
bly, and the pilot lamp bracket to the front
panel. Use #6lockwashers and 6-32 nuts on
the front panel studs. Use care when tight-
ening to prevent breaking the studs from the
front panel. Also line upthe pilot lampholes
in the dial plate, dial spacer plate, and dial
backplate.

.../’ ; 4

FRONT VIEW
'<\|- i
® ! e
BLACE METER SEACERA PLATE 4

I% ERONT OF METER FACE AND
&1 eGh HOL ES, :

SDIAL BACK
PLATE

@veTer
: POINTER

L7 B METER
. SPACER PLATE
@

o POMITION METER AND METER
SPALER PLATE BEMIND DlA.
BACXeL 4 TE. SUIDINCG METER

,\\\DOINTER INTO RO4ITION SHOWN

PILOT LAMP
BRACHET

DIAL BACK PLATEC

6 LOCKWASHER

632 NUT

By



g Ter1oplg

Ve 1'eea

TONIHIM J¥A 021 803 GILIINNOD

IYIH NMOHS v SIYIM HAWHOLSNYEL H3IMO4 IHL ‘310N

|

ONIMHIAM HIWHOISNVYYL
HIMOCd DVA QFE




Page 16

{ ) R33, Referring to Detail 1P and Pictorial
1, mount the front panel to the front apron
with the AF GAIN control (#19-72) at lo-
cation FB on the front apron, Use a control
solder lug on the control bushing and a
control flat washer and control nut on the
front panel side. Do not tighten securely

yet,
CONTROL NUT
@ CONTROL FLAT WASHER
.5""\ CONTROL
_ f 2 SOLDER LUG
£/ h
&
S
\\-\.
Detail 1P

( ) RS5, Similarly, mount the RF GAIN control
(#10-131}) at location FD, Use a large spacer,
two control lockwashers, a control flat
washer, and a control nut, SeeDetail 1Q.Do
not tighten securely vet,

A COMNTRAOL WUT
R

'J
CONTF!OL
ALOCKWASHER
SPACER
‘-\

Detail 1Q

{ ) Mount the phone jack on the front apron at
location FA, Use a control lockwasher,
control flat washer, and a control nut,
Do not tighten securely vet,

( ) Mount a 3/8" x 3/8" brass bushing at loca-
tion FJ on the front apron, Pass this bush-
ing through from the front panel side, Use
a control lockwasher, control flat washer,
and a control nut, Now tighten all control
nuts,

{ ) Mount a 6-32 speednut in the cutout at each
corner of the chassis, Be sure that the flat

[ )

side of each speednutfaces outward as shown
in Pictorial 1,

TRANSFORMER WIRING

Refer to Pictorial 2 for the following steps,

Connect the audio output transformer leads as
follows:

LEAD COLOR CONNECT TO
) Black golder lug E (NS),
{ ) Blue lug 9 of tube socket V6
(NS},
{ ) Red lug 3 of electrolytic ca-
pacitor H (NS).
( ) Green lug 2 of phone jack FA
(8'1)0
) White Lug 3 of phone jack FA
{NS).

Connect the power transformer leads as follows:

LEAD COLOR CONNECT TO
) Short red lug 1 of tube socket V7
(S-1).
{ ) Long red lug 6 of tube socket V7
(S_l)-
( ) Short green lug 3 of tube socket V17
(N8S),

lug 4 of electrolytic ca-
pacitor H (NS},

lug 4 of electrolytic ca-
pacitor H (S8-2). Apply
enough solder and heat
to securely solder the
mounting tab to the ca-
pacitor mounting wafer,

{ ) Long green

{ ) Red-yellow

Two sets of line voltage wiring instructions are
given below, one for 120 VAC line voltage and the
other for 240 VAC line voltage, In the U.S,A,,
120 VAC is most often used, while in foreign
countries 240 VAC is more common, USE ONLY
THE INSTRUCTIONS THAT AGREE WITH THE
LINE VOLTAGE IN YOUR AREA,

120 VAC Wiring

( ) Twist together loosely the black and black-
green leads, Then connect both to lug 4 of
control FB (5-2),

( ) Twist together loosely the black-red and
black-yellow leads, Then connect both to
lug 2 of terminal strip BC (NS).

Now proceed to Harness Wiring,



HE > TR

Page 17

240 VAC Wiring
Refer to Detail 2A for the following steps.

( ) Cut the black-green lead to the same
length as the black-yellow lead, Then twist
these leads together lcosely and connect
both to lug 1 of terminal strip BC (S-2),

{ ) Connect the black lead tolug 4 of control FB
(S_I)a

( ) Connect the black-red lead to lug 2 of ter-
minal strip BC (NS).

HARNESS WIRING

NOTE: In the following steps, the harness break-
out points will be referred to with the letters
BO.

( ) Locate the wiring harness and form it as
shown in Detail 2B,

H |
\\ g:ii: Nk YELLOW
?'.' VIO LET t; . gF::,ENGF_ zigm}k\\,
1 i sLut GREIN
I; 7 GREEN GREEN \T\,{.’
\ g weTE i
" Wi
B J I'J
0 - o
- e i N E
I _-d"":'_::_-ml
- . e
: ~ }—3
- i s
pgcmT— %// = ‘_,c.‘_'i_ L‘I
Hﬁ‘ & et :
X e iy
hnd i N '
AN |
- o I +
‘-‘I : — // I'i‘ ‘\9 pare
-i*_“r—& oy s v SRl Sy s o ¥
Detail 2B

( ) Place the wiring harness on the chassis as
shown in Pictorial 2,

( ) Place the four leads at BO 13 through
grommet HG. They will be connected later,

/
3/

Connect the harness leads extending from BO12
as follows:

( ) Connect the brown harness lead to lug 4 of
tube socket V1 (NS),

( ) Connect the yellow harness lead to lug 1 of
terminal strip R (NS).

( ) Connect the blue harness lead to lug 2 of
terminal strip 8 (NS).

{ ) Connect both red harness leads to lug 4 of
terminal strip R (N8).

Connect the leads extending from BO 11 as fol-
lows:

{ ) Connect both red harness leads to lug 2 of
terminal strip Q (NS).

( ) Connect both brown harness leads to lug 4
of tube socket V2 (NS),

Connect the harness leads extending from BO 10
as follows:

{ ) Connect the orange harness lead to lug 2 of
octal socket CC (NS),

( ) Connect both brown harness leads to lug 3
of octal socket CC (NS).

( ) Connect both red harness leads to lug 4 of
octal socket CC (NS).

Connect the harness leads extending from BO 9
as follows:

( ) Connect both red harness leads to lug 3 of
control BE (8-2).

( ) Connect the white harness lead to lug 2 of
control BE (S-1).

Connect the harness leads extending from BO 5

as follows:

( ) Connect the green harness lead to lug 6 of
“octal socket BD (S-1).

{ ) Connect the black harness lead to lug 4 of
terminal strip BC (NS).

Connect the harness leads extending from BC B

as fellows:

( ) Connect both blue harness leads to lug 1
of terminal strip L (NS).

{ ) Connect both red harness leads to lug 3
of terminal strip L (NS),

{ ) Connect the three brown harness leads to
lug 3 of tube socket V3 (8-3).



Page 18

o Lt

Connect ihe harness leads extending from BO 7
as follows:

( ) Connect the brown harness lead to lug 4 of
tube socket V4 (5-1),

( ) Connect both red harness leads to lug 1 of
terminal strip F (NS),

( ) Connect both blue harness leads to lug 2 of
terminal strip F {NS).

( ) Connect the viclet harness lead to lug 3 of
terminal strip F (N8).

( ) Connect the crange harness lead to lug 5 of
terminal strip F (NS).

( ) Connect both yellow harness leads tolug 6 of
terminal strip F (NS).

Connect the harness leads extending from BO 8 as
follows:

( ) Connect the white harness lead to lug 3 of
switch FE (S-1).

( ) Connect the yellow harness lead to lug 4 of
switch FE (N8),

( ) Connect the green harness lead to lug 2 of
control FD (S-1).

( ) Connect the blue harness lead to lug 1 of
control FD (S-1).

() Place a length of sleeving over the orange
harness lead and connect it to lug 3 of
switch FG (S-1). Push the length of sleeving
over the switch lug,

( ) Connect the red harness lead to lug 2 of
switch FG (S-1).

Connect the harness iead extending from BO 4
as follows:

( ) Connect the green harness lead to iug 1 of
phono socket BA (S-1).

Connect the harness leads extending from BG 3
as follows:

{ ) Connect both brown harness leads to lug 3
of tube socket V7 (S-3).

Connect the harness lead extending from BO 2
as follows:

{ ) Connect the brown harness lead to lug 4 of
tube socket V6 (NS).

Connect the harness leads extending from BO 1
as follows:

{ ) Connect the green harness lead to lug I of
phone jack FA (8-1).

{ ) Connect the black harness lead to lug 5 of
control FB (8-1).

( ) Place the violet harness lead through rubber
grommet HA. It will be connected later,

This completes the harness wiring onthe bottom
of the chassis, Continue with Initial Wiring,

INITIAL WIRING

Refer to Pictorial 2 for the following steps.

( ) Connect a length of bare wire from lug 1 of
terminal strip @ (5-1) tolug 5 of tube socket
V2 (NS).

( ) Referring to Detail 2C prepare a 3-1/2"
length of coaxial cable,

e a-1sz2” -
/2"
padnal

Detail 2C

{ ) Connect the shield lead of the prepared
cable to lug 5 (NS8) and the inner conductor
to lug 6 (8-1) of tube socket V2,

( ) At the other end of this cable connect the
inner conductor to lug 2 of IF transformer
P (8-1). Position this lead as shown in Pic-
torial 2.

( ) Connect one end of a 4-1/2" yellow wire to
lug 8 of tube socket V2 (NS), Place the other
end of this wire through grommet HD. It
will be connected later,



HEATIIXIT

()

—
L

——
L

Page 19

Connect a length of bare wire from lug 1 of
octal socket CC (8-1) to lug I of phono
socket BF (NS),

Connect a length of bare wire between Iug 8
(8-1) and the ground lug nearest lug 8 (-1}
of octal socket CC.

Connect a length of bare wire from lug 5 of
IF transformer P (8-1) to lug 1 of erystal
socket N (8-1).

Connect a length of bare wire from lug 3
of IF transformer P (8-1) tolugl of crystal
socket M (S-1).

Place one end of a length of bare wire
through lug 2 of erystal socket M (NS) to
lug 2 of crystal socket N (S-1), Now solder
lug 2 of M (S-2), Connect the other end of
this wire to lug 1 of tube socket V3 (NS).

Connect a 2" red wire from lug 1 of
IF transformer K (5-1} to lug § of tube
socket V3 (8-1).

Connect a length of bare wire from lug 8 of
tube socket V4 (S-1) to lug 2 of BFO coil
C (NS),

Place one end of a length of bare wire
through solder lug D {N8) to lug 5 of switch
FE (8-1). Now solder solder lug D (S-2).
Connect the other end of this wire to lug 1
of BFO coil C (S-1).

Connect a 3-1/4" red wire from lug 6 of
tube socket V4 (S-1) to lug 1 of IF trans-
former B (S-1).

Connect a 3-1/2" red wire from lug 3 of
IF transformer B (NS) to lug 3 of terminal
strip F (NS,

Connect a length of bare wire from lug 4 of
IF transformer B (S-1) to solder lugE (NS).

Connect a length of bare wire from lug %
of IF transformer B (S-1) to lug 2 of tube
socket V5 (NS).

Connecet a 5" yellow wire from lug 4 of
switch FE (8-2} to lug 1 of terminal strip
A (NS),

( ) Connect one end of a 7-3/4'" red wire io

(

=TBRY
-y B

P

)

f—

lug 2 of switch FE (S-1). Place thefree end
of this wire through grommet HA. It willbe
connectied later,

Cut a 5" length of spiral shield and unwind
1/2" from one end. See Detail 2D. Now sep-
arate the spiral shield at a point 1-1/2"
from this end.

Cut a 5-1/2" yellow wire, a 5-1/2" brown
wire, and a 7-1/2" red wire, Place these
wires through the length of spiral shield
from the end farthest fromn the break, The
yellow and brown wires should be pushed
through the break in the shield and the red
wire should pass on through the shield, Refer
to Detail 2D,

Detail 2D

At the end of the prepared spiral shield
with only the red wire extending, connect
the shield lead to the ground lug nearest
lug 3 of tube socket V6 {(NS), Connect the
red wire to lug 2 of tube socket V6 (S-1).

At the break in the shield, connect the
yellow wire to lug 6 (8-1) and the brown
wire to lug 7 (NS) of tube socket VS,

At the other end of this shield connect the
red wire to lug 2 of control FB (8-1).

Connect the yellow wire to lug 4 of switch
¥FC (NS) and the brown wire to lug 5 of FC
(NS)

Solder lug 1 of contrel FB to the control
solder lug,

Connect a 2" brown wire from lug 4 of tube
socket V5 (NS} to lug 4 of tube socket VB
(8-2).

Connect a 3" red wire from lug 8 of tube
socket V6 (S-1) to lug 1 of electrolytic ca~
pacitor H (NS).



Page 20

( ) Conneet a 3" red wire from lug 1 of elec-
trolytic capacitor H (NS) tolug 3 of terminal
strip L (NS).

( ) Connect a 3-1/2" red wire from lug 2 of
electrolytic capacitor H (NS} to lug 1 of
terminal strip G (NS),

( ) Connect a 2" red wire from lug 3 of elec-
trolytic capacitor H (NS) to lug 7 of tube
socket V7 (8-1).

( ) Connect a length of bare wire from lug 4
of tube socket V7 (S-1) to the solder lug
mounted on V7 (S-1),

COMPONENT INSTALLATION

Refer to Pictorial 3 (fold-out from Page 25)
for the following steps.

NOTE: Before proceeding, read paragraph 3
under Chassis Wiring And Soldering on Page
9.

( ) C35. Connect a ,005 pfd disc ceramic
capacitor from lug 3 of control FB (S-1)
to lug 4 of switch FC (N8).

{ } R32, Connect a 1 megohm (brown-black-
green) 1/2 watt resistor from lug 4 of
switch FC (8-3) to lug 3 of terminal strip
A (N8).

( )} R29, Connect a 47 KQ (yellow-viclet-or-
ange) 1/2 watt resistor from lug 5 of switch
FC (8-2) to lug 4 of terminal strip A
(NS).

( ) R34, Connect 2 1500 Q (brown-green-red)
2 watt resistor between lugs 3 (8-2) and 4
(S-1) of phone jack FA,

( ) €29, Connect a .05 ufd disc ceramic ca-
pacitor between lugs 1 (NS) and 2 (NS) of
terminal strip A.

( ) C33. Connect a ,05 pfd disc ceramic ca-
pacitor between lugs 2 (NS8) and 3 (NS) of
terminal strip A,

( ) C32, Connect a 220 uuf disc ceramic ca-
pacitor between lugs 2 (NS} and 4 (NS) of
terminal strip A.

( ) Place one end of a length of bare wire
through lug 3 (NS} to the center post (NS)
of tube socket V5, Now solder lug 3 of V5,
Connect the other end of this wire to the
ground lug nearest lug 3 of V5 (NS).

( ) Place one end of a length of bare wire
through lug 5 (NS8) through the center post
(NS) to lug 9 (NS) of tube socket V5, Now
solder lug 5 (3-2), Connect the other end of
this wire to the ground lug nearest lug 5
of V5 (NS),

{ ) Connect a length of bare wire from lug 9 of
tube socket V5 {8-2} to the ground lug near-
est lug 9 of V5 (NS).

( ) R27, Connect a 2,2 megohm (red-red-
green) 1/2 watt resistor from lug 8 of
tube socket V5 (NS} to the ground lug
nearest lug 5 of V5 (8-2).

( ) C386, Connect the positive (+) lead of a 10
pfd electrolytic capacitor to lug 6 of tube
socket V6 (NS). Connect the other lead of
this capacitor to the ground lug nearest
lug 3 of tube socket V5 {S-2).

Eefer to Detail 3A for the following steps.

- N

Detail 3A

( ) R30, Connect a 270 KQ (red-violet-yellow)
resistor from lug 7 of tube socket V5 (NS}
to the ground lug nearest lug 9 of V5 (S-2).



HEATERXIT

(

Page 21

y R26, Ccnnect a 1 megohm (brown-black-

green} 1/2 watt resistor from lug 1 of
terminal strip A (S-3) tolug 8 of tube socket
V5 (NS).

R31, Connect an 820 K@ (gray-red-yellow)
1/2 watt resistor from lug 3 of terminal
strip A (8-3) to lug 1 of tube socket V5
(NS).

R28. Connect a 120 K@ (brown-red-yellow)
1/2 watt resistor from lug 4 of terminal
strip A (S-3) to lug 1 of tube socket V5
(NS).

C32, Connect a 220 puf disc ceramic ca-
pacitor from lug 2 of terminal strip A
(8-4) to lug 1 of tube socket V5 (S8-3).

C31, Connect a 220 puf disc ceramic ca-
pacitor between lug 7 (S-3) and the center
post {8-4) of tube socket V5,

C34, Connect 2 3.3 puf disc ceramic ca-
pacitor between lugs 2 (8-2) and 8 (S-3}
of tube socket V5,

Locate one of the pilot lamp sockets, Place
the lead extending from this socket through
grommet HAfrom the top side of the chassis,
Connect this lead to lug 4 of tube socket V5
{s-2).

Refer to Pictorial 3 for the following steps.

(

} R35. Connect a 100 © (brown-black-brown)

1/2 watt resistor from lug 8 of tube socket
V6 (8-2) to the ground lug nearest lug 8§ of
V6 (NS).

Place one end of a length of bare wire
through lug 5 (NS} to the center post (NS)
of tube socket VB, Now solder Iug 5 of VB
(S-2), Connect the other end of this wire to
the ground lug nearest lug 8 of V6 (S-1).

R37. Connect a 1000 Q {brown-black-red}
1/2 watt resistor from lug 1 of tube socket
V6 (8-1) to the ground lug nearest lug 4 of
V6 (S-2).

Refer to Detail 3B for the following steps,

(

) C317. Connect a ,005 ufd 1.4 kvdisc ceramic

capacitor between lug 9 (8-2) andthe center
post (S-2) of tube socket V8,

Detail 3B

( ) R36, Connect a 680 K (blue-gray-yellow)

1/2 watt resistor from lug 7 of tube socket
V8 (NS) to the ground lug nearest lug 8 of
V6 (S-2).

R38, Connect a 120 K {(brown-red-yellow)
1/2 watt resistor irom lug 3 of tube socket
V6 {NS) to lug 1 of termina} strip G {5-2).

C38, Conneect a ,005 upfd disc ceramic
capacitor between lugs 3 {85-2) and 7 (8-2)
of tube socket V8,

Refer to Pictorial 3 for the following steps.

(

) Rd4, Connect a 1500 © 10 watt wire-wound

resistor between lugs 1 (NS) and 3 (S-3)
of electrolytic capacitor H.

R43, Connect a 22 KQ (red-red-orange) 1/2
watt resistor between lugs 1 (8-4) and 2
(8- 2) of electrolytic capacitor H,

C28, Connect a ,005 pfd disc ceramic ca-
pacitor from lug 3 of IF transformer B (8-2)
to solder lug E (8-3).

C40. Connect a 30 puf resin dipped mica
capacitor from lug 2 of BFO coil C (8-2)
to lug 1 of variable capacitor FF (S-1),

Place one end of a length of bare wire
through the center post (NS) of tube socket
V4 to the solder lug mounted on V4 (NS),
Connect the other end of this wire to lug 5
of V4 (S-1},



